Name Spring 2013

CHEM 0203 Quiz 3
1. a. (5 pts. ea.) a. Identify whether the reaction is likely to proceed via an Sx1 or an Sn2
mechanism.
b. (10 pts. each )Predict the organic products for the following reactions. Remember to indicate
the stereochemistry of the products using wedge (=) and dashed bonds (*''""') where
appropriate.
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2. (10 pts. ea.) Predict the organic products for the following reactions. Remember to indicate the
stereochemistry of the products using wedge (=) and dashed bonds ( **'""'ll) where
appropriate.
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